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22 Slug on a stick o —
A slug crawls along a straight stick. The graph A
illustrates the slug’s position vs. time. Answer 4 7
the following, giving explanations for each answer.
(111F2023) 3 7

a) Determine the velocity of the slug at 1.0s. 2 -

b) Determine the velocity of the slug at 4.0s.
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Phys 111
Fall 2023

General Physics: Group Exercise 1
28 August 2023

Names:

1 Rotating object

Take a rectangular object with three sides of different lengths: a phone is a good example,
Try to flip the phone in such a way that it rotates and does not “turable.” Try this for three
distinct axes. Is it easier to to this about some axes rather than others? Have you ever
noticed this before? Where? The instructor will provide some assistance.

2 Moving man animation

An animation shows a man moving horizontally. The Time | Position | Velocity
table provides data for the positions and velocities of 0.08 | —10.0m | 1.0m/s
the man at various times. 108 —75m | 40m/s
a) Does the velocity of the man stay constant, in- 20s | —20m | 7.0m/s
crease al a steady rate or increase at a varying 3.0s 6.5m | 10.0m/s

rate during the period from (.08 to 3.0s7
b) By how much does the man’s velocity increase every second?

¢) Determine the average acceleration of the man from 0.0s to 1.0s.
d) Determine the average acceleration of the man from 1.0s to 2.0s.

e} Determine the average acceleration of the man from 2.0s to 3.0s.
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